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QUESTION 1

Which two options are true if inventory is unallocated and unavailable? (Choose two.) 

A. Inventory located in a drop zone 

B. Inventory located in active location 

C. Unlocked inventory located in reserve location 

D. Inventory in locations with lock codes 

Correct Answer: CD 

 

QUESTION 2

Your company wants to use Replenishment Wave to maintain adequate inventory levels to meet customer demand by
fulfilling customer\\'s orders on time. Which Replenishment Trigger Mode needs to be set up in the Replenishment
Template for the following condition? For active Location P20A100 Minimum Volume = 20 Max Volume = 100
Percentage of Max = 20% Length = 20, Width = 40, Height = 60 If location P20A100 total volume goes below 20, the
location is triggered for replenishment 

A. Minimum Capacity 

B. Reactive 

C. Order Based 

D. Percentage of Max 

Correct Answer: D 

 

 

QUESTION 3

A Purchase order created in ERP is downloaded to WMS Cloud. Which two statements are correct related to the
Purchase order update? (Choose two.) 

A. UPDATE is sent in the Header and CREATE in the Detail for an existing Purchase Order line. The application will
add up the corresponding "Order Quantity". 

B. The Purchase order header can be updated by sending an UPDATE action code when the status is in Created and
Received. 

C. Purchase order can be re-created by sending the RE-CREATE action code when the status is In-Receiving. 

D. UPDATE is sent both in the Header and Detail for an existing line. The application will just update the record at
Details. 

E. The RE-CREATE action code if sent for an existing PO, the same PO will be deleted and re-created with the new
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details. 

Correct Answer: BD 

 

 

QUESTION 4

You have hired a new employee to do picking in the warehouse. The employee complains that he/she cannot work
because the RF Picking transactions is not displayed as one of the RF options. Which two scenarios will cause the
transaction to be missing as an RF option in the user\\'s menu? (Choose two.) 

A. The RF Picking transaction is not associated with her/his group\\'s assigned RF Menu. 

B. The employee\\'s Group has a blank RF Menu. 

C. The employee is assigned to the "Supervisor" group. 

D. The employee\\'s email is not set up in his/her user profile. 

E. The employee has forgotten his/her password. 

Correct Answer: AB 

 

QUESTION 5

You are the inventory control superuser of a warehouse and need to audit all the cycle count activities done by the
operators before they are communicated to the host system from WMS Cloud. You are responsible for the cycle count
functionality configuration of the warehouse as well. This warehouse was newly bought by your company. Your
company is a 3PL and this new warehouse will be used for a new client of your company. Which four tasks do you need
to complete? (Choose four.) 

A. Create a Cycle Count RF screen with the parameter auto-approve-mode set to off. 

B. Audit the Pending records in the Cycle Count Adjustment screen. 

C. Create a Cycle Count RF screen with the parameter auto-approve-mode set to on. 

D. Set the company parameter INVN_ADJ_APPROVAL_REQUIRED to yes for your company. 

E. Set the company parameter INVN_ADJ_APPROVAL_REQUIRED to yes for the company that you are configuring. 

F. Set the facility parameter INVN_ADJ_APPROVAL_REQUIRED to yes for the new warehouse. 

Correct Answer: BCDF 
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